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Part: A 

1: An administrator has created an access table in the Contributor Administration Console and an 

access level of HIDDEN has been specified for several D-List items. What effect will this access 

level have? 

A.The data for the D-List items will not be downloaded to the Contributor Web grid. 

B.The data for the D-List items will be downloaded to the Contributor Web grid but will be 

read-only. 

C.The data for the D-List items will be downloaded to the Contributor Web grid but will not be 

visible to users. 

D.The data for the D-List items will be deleted from the Contributor application. 

Correct Answers: C 

 

2: An application has multiple Access Tables that use different dimensions. The dimensions apply 

to the same cube. When the Access Tables are resolved, what level of access will the planner get? 

A.The access level will be determined by the order of the Access Tables. 

B.Multiple Access Tables cannot be applied to the same cube. 

C.The least restrictive level of access defined amongst all the Access Tables. 

D.The most restrictive level of access defined amongst all the Access Tables. 

Correct Answers: D 

 

3: Why would an administrator create a saved selection in the Contributor Administration 

Console? 

A.To use with access tables to restrict access to one or more data items 

B.To prevent synchronization from happening on the job server 

C.To use with a job server to restrict access to one or more data items 

D.To prevent cut-down models from being created 

Correct Answers: A 

 

4: An administrator has created an access table in the Contributor Administration Console and an 

access level of NO DATA has been specified for several D-List and e.List item combinations. 

What effect will this access level have? 

A.The D-List items will be downloaded to the Contributor Web grid and will be available to all 

users. 

B.The D-List items will be downloaded to the Contributor Web grid but will be read-only. 

C.The D-List items will be downloaded to the Contributor Web grid but will not be visible to 

users. 

D.The D-List items will be deleted from the Contributor slice for the specified e.List items. 

Correct Answers: D 

 

5: A saved selection has been created in the Contributor Administration Console which includes 

the camping equipment items from the 2 Products D-List. The administrator wants to ensure that, 

if more camping equipment products are added to the 2 Products D-List, the saved selection will 

be updated automatically. Which option should the administrator select in the First Selection box? 



 

A.All 

B.List of Items 

C.Filter 

D.Enlarge 

Correct Answers: D 

 

6: From the Contributor Administration Console using the Deployment Wizard, what can an 

Administrator do? 

A.Export the model structure but is unable export the data. 

B.Export the model structure and is also able to export the data. 

C.Export a Framework Manager Model but is unable to export Events. 

D.Export a Framework Manager Model and is also able to export Events. 

Correct Answers: B 

 

7: Which of the following statements concerning the configuration of Attached Documents, and 

when it takes effect, is true? 

A.The Development area of a specific application under Web Client Configuration, Application 

Options and does require a GTP in order to take effect. 

B.The Production area of a specific application under maintenance, Commentary and does not 

require a GTP in order to take effect. 

C.The Web Client Settings tab in the System Settings area and does require a GTP in order to take 

effect. 

D.The Web Client Settings tab in the System Settings area and does not require a GTP in order to 

take effect. 

Correct Answers: D 

 

8: In which of the following situations is using cut-down models beneficial? 

A.When the user is working with an application that has few dimensions, each with few items. 

B.When the user is entering data offline. 

C.When working with the WRITE Access Table setting. 

D.When working with large dimensions with only few items required by each planner. 

Correct Answers: D 

 

9: Application IDs and object names must be unique within a planning network. When importing a 

deployment, what happens if duplicate names or IDs are found? 

A.The user is presented with errors which are written to an import log file and the import process 

stops. 



B.The user is presented with errors which are presented on a dialog and the import process stops. 

C.The user is presented with a warning and if they proceed, any existing applications or objects 

with common names or IDs will be preserved. 

D.The user is presented with a warning and if they proceed, any existing applications or objects 

with common names or IDs will be overwritten. 

Correct Answers: D 

 

10: When creating a deployment package in the Contributor Administration Console, what part 

associated with the planning network may be included? 

A.The Framework Manager model 

B.The Contributor model and data 

C.The Cognos Connection Event agents 

D.The Cognos Connection Report Studio reports 

Correct Answers: B 

 

 


